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仿真图
整体仿真图
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计数器模块
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锁存器模块
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控制模块
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产生闸门信号，清零信号，锁存信号
[image: image18.png]Master Time Bar: 29,655 Interval: 563,465 start End

256 7208 358408 096us 0808 5120 63208 6L44us 66.56us 716808 78S 519208 87040

ops 51208
= vaeat || i

Besn | s
« A e ————————————————————————————————————————————————

S a1 U U 1 1] 1} i} ] 1f
A A0 ] ] ] | | ] ] ]

Ao ] | | ] ] ] | |

3





[image: image19.png]Ve at
265 |[965ms

Neme

=

ops 12808 25608 3840 51208 6.4us 76808 8.36us 10.24us 11520 28us 14.08us 15,360 16,640 17.52us 1.20s s

& A —————————————————————————————————————

3

lat a0 N

o a1 L J L7

st a0 n





[image: image20.png]Master Time Bar: 29,655 Pointer: 14.83ns Interval: -14.82ns Start:

5120 6.4us 76808 836 10,240 11520 1280 14.08us 15,360 16,640 17.52us

ops 12808
= vaeat ||

sesns | eSS
L& a1 —————————————————————————————————————

A1 RIES LT

TR

5w Ao giEES

o et





数码管显示模块
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